Supplementary Data 2. Forest plots of the 123 lead migraine variants. For each variant,
we plot the log-odds-ratio estimate (BETA) with its 95%-confidence intervals (green) from
each of the five studies included in the meta-analysis (N = 873,341; 102,084 cases and
771,257 controls) and a combined estimate from the inverse-variance weighted fixed-effect
meta-analysis (blue diamond). Grey squares indicate the sample sizes of each study. We
annotate each plot with the lead variant and effect allele, uncorrected two-sided P-value by

the inverse-variance weighted fixed-effect meta-analysis and the heterogeneity index (1?).
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